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1 Introduction

In last RAN4 #63AH meeting in Oulu, the simulation results for CA demodulation with 6 dB power imbalance are proposed and discussed how to determine the required SNR points and T-put ratios whether or not use which interference model to reflect Scell’s image rejection interference [1][2]. But some simulation assumption for interference model is changed and we verify both identity channel models [4]. So, in this contribution, we provide the simulation results of Pcell’s throughput for TM mode1 in two interference models.
The test metrics of the power imbalance test under static conditions are as below
· The requirements in this section verify the ability of an intra-band adjacent carrier aggregation UE to demodulate the signal transmitted by the PCell in the presence of a stronger SCell signal on an adjacent frequency. Throughput is measured on the PCell only.
The revised simulation assumption as below
· PCell

· TM1 SIMO signal

· 1x2 static channel
· 6% Tx EVM
· Scell

· TM3 Rank 2 OCNG5

· 2x2 channel 

· identity  channel with a scaling factor sqrt(2) for the transmission power normalization :  H= sqrt(2)* [1 0;0 1]

· “B.1”  channel in  36.101:  H=  [1 j;1 -j]

· Interference model for Scell 

· Option1: Interference model in RX side

· Option2: AWGN noise

2 Simulation Results 
In the figure1, we provided the simulation results for PDSCH of PCell with 6dB difference within option1 and 2 in identity matrix H=[1 j;1 -j]. When we consider just 6dB difference in receiver side, the simulation results is quite similar to the option2 (white noise approach) that is just add to Pcell’s information data by noise terms. 

In the figure2, we provided the simulation results for PDSCH of PCell with 6dB difference within option1 and 2 in identity matrix H= sqrt(2)*[1 0;0 1]. For this identity matrix, the required SNR point is smaller than the other identity matrix case. 
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Figure1 FDD simulation results of Pcell T-put with H=[1 j; 1 –j]
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Figure2 FDD simulation results of Pcell T-put with H= sqrt(2)* [1 0;0 1]
From these simulation results, we propose the target SNR point is 19dB to satisfy the 70% throughput ratios with the identity matrix H= =[1 j;1 -j].
3 Conclusions

In this contribution, we propose the target SNR point and throughput ratio for power imbalance requirement in static channel. It is suggested that these results are compared with those of other company to determine the requirements.
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